












Find the ODD one(?)

A. 3425
B. 4541
C. 5661
D. 6783



Find the option which should replace (?)

22 + 25 = CF 
35 + 25 = BE
45 + 44 = ?

A. AD
B. VE
C. AF
D. EV



Find the option which should replace (?)

9 : 24 :: ? : 6

A. 1
B. 2
C. 5
D. 3
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Q.. A man is facing east. He turns 45 degree in the clockwise direction and then another 180 

degree in the same direction and then 270 degree in the anticlockwise direction. Find which 

direction he is facing now ?

एकआदमी पूर्व का मुख ककये है। र्ह दकिणार्र्व कदशा में 45 किग्रीऔर किर उसी कदशा में 180 किग्रीऔर किर

र्ामार्र्व कदशा में 270 किग्री बदल जार्ा है। अब र्ह ककस कदशा में देख रहा है?
(1) South-West

(2) South

(3) West

(4) South-East

(5) None of these

Question -1



Q. Shubham travels 8 km. towards North, then he turns to his right and walks 4 

km. He again turns to his right and moves 5 km forward. Now in which direction is 

he from his starting point ?

शुभम 8 ककमी की यात्रा उत्तर कीओरकरर्ा है किर र्ह अपने दाकहने मुड़र्ा हैऔर 4 ककमी चलर्ा
है। र्ह किर से अपने दाकहनेओर मुड़र्ा हैऔर 5 ककमीआगे बढ़र्ा है। अब र्ह प्रारंकभक कबंदु से

ककस कदशा में है?
(1) North

(2) South

(3) East                                                  

(4) West

(5) None of these

Question -1



Q. Shyam walks 7 km. in the east. Then he turns to his right and moves 20 km, 

then he turns to his left and moves 5 km, then  he turns to his left and moves 11 

km. and then again he turned to his left and moves 12 km. Now in which direction 

is he from his starting point and how far ?

श्याम 7 ककमी पूर्व में जार्ा है। किर र्ह अपने दाकहनेओर मुड़र्ा हैऔर 20 ककमी चलर्ा है, किर र्ह
अपने बाएंओर मुड़र्ा हैऔर 5 ककमी चलर्ा है, किर र्ह अपने बाएंओर मुड़र्ा हैऔर 11 ककमी
चलर्ा हैऔर किर र्ह दुबारा अपने बाएंओर मुड़र्ा हैऔर 12 ककमी की दूरी चलर्ा है। अब र्ह
प्रारंकभक कबंदु से ककस कदशा में और ककर्नी दूर है?
(1) 9 km South

(2) 64 km East 

(3) 20 km west                             

(4) 7 km south

(5) None of these

Question -2



Q. Garima walked 25 m towards south. Then she turned to her left and walked 20 

m. She then turned to her left and walked 25 m. She again turned to her right and 

walked 15 m. At what distance is she from the starting point and in which 

direction?

गररमा दकिणकी र्रि 25 मीटर गयी। किर र्ह अपने बाएंओर मुड़ीऔर 20 मीटर गयी । किर र्ह
अपने बाएंओर मुड़ीऔर 25 मीटर गयी। र्ह किर से अपने दाकहनेओर मुड़ीऔर 15 मीटर गयी।
अब र्ह प्रारंकभक कबंदु से ककस कदशा में और ककर्नी दूरी पर है?
(1) 35 m East                                

(2) 35 m North

(3) 30 m West                              

(4) 45 m East

(5) None of these 

Question -3



Q. Mr. Khan moves towards South-East a distance of 7 km, then he moves 

towards West and travels a distance of 14 km. From here he moves towards 

North-West a distance of 7 km and finally he moves a distance of 4 km towards 

east. How far is he now from the starting point?

श्रीमानखान दकिण-पूर्व की र्रि 7 ककमी की दूरी पर चले जारे् हैं, किर र्ह पकिमकीओर बढ़रे् है

और 14 ककमी की दूरी र्य कररे् है। यहां से र्ह उत्तर-पकिमकी र्रि 7 ककमी की दूरी र्य कररे् है
और अंर्र्ः र्ह पूर्व कीओर 4 ककमी की दूरी र्य करर्ा है। अब र्ह शुरुआर्ी कबंदु से ककर्नी दूरी पर

है?
(1) 3 km                                             

(2) 4 km

(3) 10 km                                           

(4) 11 km

(5) None of these 

Question -4



Q. Gitanjali walks 6 km in the west then she turns to her right and moves 8 km 

then she turns to her left and moves 9 km then turns to right and moves 12 km. 

Now in which direction is she from his starting point and how far ?

गीर्ांजकल पकिम कदशा में 6 ककलोमीटरकी दूरी र्य करर्ी है किर र्ह अपने दाएं मुड़ जार्ी हैऔर 8 
ककलोमीटरकी दूरी र्य करर्ी है किर र्ह अपने बाएं मुड़र्ी हैऔर 9 ककलोमीटरकी दूरी र्य करर्ी
है अंर्र्ः र्ह अपने दाएं मुड़र्ी हैऔर 12 ककलोमीटर की दूरी र्य करर्ी है अब र्ह प्रारंकभक कबंदु से

ककस कदशाऔर ककर्नी दूरी पर है?
(1) 15 NE

(2) 35 NE     

(3) 25 NW

(4) 45 SE

(5) None of these

Question -5



Q.One morning Udai and Vishal were talking to each other face to face at a 

crossing. If Vishal's shadow was exactly to the left of Udai, which direction was 

Udai facing ?

एक सुबह उदयऔर कर्शाल एक दूसरे कीऔर मुख ककये हुए एक दुसरे से बार् कर रहे है। अगर

कर्शाल की छाया उदय के बाईंओर थी, र्ो ककस कदशा में उदयका मुख होगा? 
(1) East                             

(2) West

(3) North                           

(4) South

(5) None of these 

Question -9



Q. A school bus driver starts from the school, drives 2 km. towards North, takes a 

left turn and drives for 5 km. Then he takes a left turn and drives for 8 km and 

taking a left turn again and driving for 5 km. The driver finally takes a left turn and 

drives 1 km. before stopping. How far and towards which direction should the 

driver drive to reach the school again ?

एक सू्कल बस चालक सू्कल से चलना शुरूकरर्ा है, 2 ककमी जार्ा है उत्तर कीओर, बाएं मुड़कर 5 
ककमी जार्ा है। किर र्ह बाएं मुिर्ा है और 8 ककमी जार्ा हैऔर किर बाएं मुड़र्ा हैऔर 5 ककमी
गाड़ी चलार्ा है। चालक अंर् में एक बार किर बाएं मोड़र्ा है और रोकने से पहले 1 ककमी जार्ा है।
अब चालकको गाड़ी सू्कल र्क पहंुचाने के कलए ककर्नी दूरऔर ककस कदशा में जाना चाकहए ? 
(1) 3 km. towards North 

(2) 7 km. towards East                

(3) 6 km. towards South 

(4) 6 km. towards West               

(5) None of these

Question -10



Q. Raj walks 200 feet straight from his house, which is facing north and then he 

walks 100 feet in reverse direction. Further he takes a left turn and walks 300 feet. 

In Which direction is Raj now from his original position?

राज सीधे अपने घर से 200 िीट चलर्ा है, जो उत्तर में मुख ककये हैऔर किर र्ह कर्परीर् कदशा में

100 िीट चलर्ा है। इसके अलार्ा र्ह बाएं मोड़ लेर्ा हैऔर 300 िीटकी दूरी चलर्ा है। राज अब
अपनी मूल स्थथकर् से ककस कदशा में है?
(1) South-East 

(2) North-East

(3) South-West 

(4) North-West

(5) None of these

Question -13


